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100 min 1.5em  PaO, > 9.8kPa ImmHg =
0.133kPa  PaC0O,<<6.0kPa Sa0, >85%
“ " <2 >
“ " 100 min 0.5~1.0cm PaO, 8.7~9.8kPa Pa-
TBIL PA CO, 6.5~6.0kPa Sa0, 80% ~85%
Il HGF TBIL
PA 2 18 10 2
93.3% 60 % 5 15
2001 -12-12 2002 -07 - 15 10 66.67% 16.7%
P<0.05
3 1
P<0.01 P
<0.05
034000 1 Tts
Pa0, kPa PaCO, kPa S0, %
30 6.45£1.04  9.22+1.48 64+9
30 30 9.69+1.10"2 5.61+1.53*4 83+8*4
30 6.24£1.25  8.99+1.49 65+ 10
60 8.71£1.20* 7.25+1.35*  70+9*
* P<0.01 2P<0.05
1988:413—414
30 19
11 43~76 64.2 30 20
10 42~77 65
21 5 3
1 13 N 17
20 6 3 ADP
1 12 N 18
50% Sml 30ml 5% 250ml
1 15 1
0.25
~0.5¢ d 6.0g d
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